D #HER BEHER REFLR

" Time table of Shinjuku Line 202453816 HXIE
FRiR « K| - FEEHE

for Tokorozawa, Hon-Kawagoe & Haijima

FH weekdays
il il x %#3F% H
S K

17 33 46 50

ATA #H ORATA B 2TE Lk 277 B 27F x 2TFEEE £

SN 2 5 13 16 24 26 32 36 42 45 51 |5 57

Ak E A & #AE T ERE L AGH & :é%?s £ ERE A5E L A5E %AF

[l 0 3 8 12 15 20 22 27 29 34 37 kN 43 45 48 51 53 57

E ERERTE B R/MAERE E RTARTE L /TFAERF F E3F F EWFEEEN#RE B RTF X 2TE X

SM 0 2 5 7 10 12 15 17 20 22 25 27 30 32 35 37 K] 42 43 47 52 54 58

9 AT ERA H EREF B A7F B ERFX K T 2T ¥ BEENRTE X A7 20 H
1

3 5 10 14 16 19 24 25 28 32 37 ElM 41 45 49 51 54

l 0 RTE & RiTF B ATE F 27K H BEEIATHE & 27F E
3

1 11 13 21 23 31 33 ElJ 41 43 51 53
R 20F = 20t B son & sox B gQets £ sk &
1 3 11 13 21 23 31 33 gJ 41 43 51 53

12 BITE X RTA B RTE X 27 B GEEATE & 2i7F H
1 3

11 13 21 23 31 33 ElM 41 43 51 53

l 3 RATE & 27K H RTHE F 278 H B RTHE X 274 H
1 3

11 13 21 23 31 33 EiJ 41 43 51 53

AfTA B ATHE F 274 H BEE2ITHE & 2TF

*
3 11 13 21 23 31 33 g 41 43 51 53

l 5 ATE & 27 H ATE F 27 H GBEEATHE & 27F &k

11 13 21 23 31 33 EJ 41 43 51 53

l 6 RTE F 2TF H R/THE OF BEERTE # ERE F 204 B RTFx B E3E
3

11 13 21 23 k] 31 33 37 42 44 47 51 55 58

17 GEeN F O2i0F £ 20F A ROA F E3FGEEN F O OR04 £ 20E B R0F B O £RE
3

5 10 12 18 20 25 28 ] 33 35 40 42 48 50 55 57

18[7 S -~ BN z@%&%m F wEE b AGk B A5k B #8E

' 3 5 8 11 13 k)17 22 25 27 i 32 35 38 41 44 47 51 55 57

19 Ry 1 20E 2ATE X RTF B %2BEEEEy B 204 H O2G0EF B 204 B E3F

il
12 4 9 12 17 20 24 27 ki 32 35 38 41 46 49 54 57

20 G K 2TA 2TANGEN B 2ATH E Z'E%ZK F ORGE Lt 2T B 205 # %28

il
'l 2 5 9 1108117 19 24 27 k) 32 35 38 41 46 49 53 57

21 R [ I N = U S F R0F H %(3BEEEE X R0FA £ 20FA HBH ARGTE &

11 4 8 11 17 20 24 27 ) 33 36 40 44 48 52 57

22 (SN 2 i 204Gk H f%'ﬁK X RITHE B ATE H RTE

Ol 3 8 128119 24 k[ 32 35 42 44 51 54

23 5 27 [ = S i = v N i 157 17K (R G = S o == b N o /<5 = 7 S

Ul 2 6 13 19 24 Kkl 32 35 42 47 B3 59

0 B
4 14 17

B BE=NIA H=EES— A7 %A SO=SREE

BER HR=SHES - WL -FR - Jlb - K FESF—= EEEH) - NTHSOER x () EREGH

RT=mHES - B/ 2 - LawH - BENSOER E=mHES B/ 2 LEHEHHSOER
7% AKX FH-FHRR A BE-BE E-FILK /B-BE L- EEEHF



